JAVAO OO OOoOogsclrodoooonoadlavald OO O
POFO 00000000000 O00O000O0
https://www.100test.com/kao_ti2020/635/2021 2022 JAVA E8 A
E A4 E8 AF 81 c104 635213.htm 4101 Which of the following
statements are legal?A. long | =4990.B. inti =4L.C. float f=1.1.D.
doubled =34.4.E.doublet=09F.(ade)l U 0 OO OO OOOO
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I public class Parent { int change() {CI } } class Child extends Parent
{ }Which methods can be added into class Child?A. public int
change(){}B. int chang(int ){}C. private int change(){}D. abstract
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String one, two. public Parent(String a, String b){ one =a. two =b. }
public void print(){ System.out.printin(one). } } public class Child
extends Parent { public Child(String a, String b){ super(a,b). } public



void print(){ System.out.printin(one " to " two). } public static void
main(String arg[]){ Parent p = new Parent("'south”, "north"). Parent
t = new Child("east", "west"). p.print(). t.print(). } }Which of the
following is correct?A. Cause error during compilation.B. south
eastC. south to north east to westD. south to north eastE. south east
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